| total events O=anyInput 8=anyAccept | Entries 25633
Mean 1.539
'''''''''''''''''''''''''''''''''''''''''''''''''''''' RMS  2.392

cpeppeedegegogego gy ey

Input: 1=btow, 2=etaw

2 3 4 5 6 7 8 9
Accept: 4=oneJet, 5=diJet, 6=rnd

| L2 time used per input event

22000

[y -
29000f
w —
E8000F
16000F
14000F
12000F
10000F
8000
6000
4000F
2000F

oE

.......................................................................

Entries 544935
Mean 69.63

RMS 10.88

150 200 250 300

100

350

400

x: time (CPU kTics)

|rauaofinputevents

Entries

y: rate (Hz)

=
o
o

80

60

40

20

Mean

RMS

21199
262
134.1

1000 1500 2000

X: time in this run (seconds)

2500

4ccpet rate blue:monoJet, red:diJet, black:randon1

y: rate (Hz)

Entries 1347

Mean 258.1
RMS 134.2
1 | 4 L i 1 Il L 1 I L Il 1 1 I 1 | 1 1 I ] 1 1 |
500 1000 1500 2000 2500

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=1+

x: BTOW softiD.

soft=801+

Ul

o
Xx: BTOW softiD.

o
x: BTOW softiD.

o
Xx: BTOW softiD.

o
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1

crate=2"

x: i=chan+128*crate

crate=3

x: i=chan+128*crate

crate=4

x: i=chan+128*crate

crate=5b"

x: i=chan+128*crate

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input)

RP~Sectop
o
o

y; phi bi

N
o

I,

:'

y

Lk

II"IJ

, |I'|'| ql I
I !Ir

'} e

|
iF

.I,:, .
.lI."'II

|

Entries 7681

F

T

O - -
25

30

35
X: eta bin, [-1,+1]

BTOW-West

40

4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]



Et Jetl-Jet2 (input)| [Entries 21199 ] |diJet1 e

> 12 -
© 1800 o
% B : : : : g
& 10| S B S S 1600 ¢
ko) : : : : =
O 1400 %
>
S I S S 1200
5 1000
. 800
ar 600
400
2
200
0 0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
diJet phil-phi2 (input [Entries 21199 | diJet2 eta-phi (input
| phil-phi2 (input) | p_(p )|BTOW-West Endcap

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



Jetl Et (input)

- Mean

Entries 21199
5.173

RMS  1.943

# BTOW towers>ped+8 (input) |

60
x: Et (GeV)

Jet2 Et (input)

—1Mean
: [RMS

Entries 21199
2.091
1.29

Entries 21199

E : Mean 30.44

600 E_ ...................................... ............................... RMS 14.11
500 E—
400 E—
300 E—
200 E— :
100 =

00 = IZIOI ! I4I0 = IGIOI ! 80 10% * IZI.ZIOI * I14I0I * I16I0I * I18IOI * I200
x: # of towers/event

# ETOW towers>ped+8 (input) | Entries 21199

1000 === T S T e e Mean 15.39

RMS 8.583

0 10

20 30 40

i
80

i
90 100

x: # of towers/event

60
x: Et (GeV)

10°

102

10

- Mean
' IRMS

Entries 21199
16.49
5.242

60
x: Et (GeV)




one-Jet Et (accepted) |

10°

Entries 1347

10

50
X: jet Et (GeV)

(accepted)

D TUYV

y: iPhi ~sector

................

Entries 1347

80

70

-West| Endcap

10 12

Entries 1347

I35

------ 1130

—25

—20

—15

14
x: iEta [-1,+2]

Entries 1347

10| RRROR SRURE R froenneens -

7| SSNS SN S

60

50

40

30

20

10

5 10 15 20 25 30

x: iPhi ~sector

120

100

...................................

00 A

60—~

0

SOCH TS T S ————

O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14
x: iEta [-1,+2]




|Et of Jetl vs. Jet2 (accepted)] [Enties  1148]  [djJet] eta-phi (accepted)| [Entries _ 1148]
12 . . . . . ) BT OW/- oToW
5 [ 5 : 5 5 5 o
e r : : : : ' I140 g
T i
B ; ; ; | 120 &
N R S L . N
: : : —|100
| i
- —60
y| TR e
- : I40
) """"""" : : Tt """""""
C : : : : : 20
0_| 1 1 | 1 1 1 : : : :
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14

x: Jetl/GeV x: iEta [-1,+2]

|diJet phil-phi2 (accepted)] [Entries _ 1148] |d|Jet2 eta- phi (accepted)|

N-West| Endcap
30 _ O
= 5 % ]
° 3 10
? d
U 25 L 25
o =
£ o
. S 8
> 20 20
6
15 15
10 10 4
5 2
: [ |
0 1 1 1 1 I 1 1 1 1 I 1 I 1 1 1 1 I 1 1 1 1 0 1 1 1 l 1 1 1 I 1 o
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted)| Entries 1148 |diJet eta (accepted)| Entries 1148
JMean  8.558 = : : : : : —Mean 7.716

ilRMS  2.363 . - RMS  3.857
: 100f—---==+ RRRLERELEE ARRRLEEE S i ) S SRS
ks i R R AR R LR SRR LR B -..i : '
- Lo NANEEE I b
el FORUL --d 1
102 i 80 --1----- P e . T A TN S

L BRI B —ngh Etjet B 60— [ ]{—High Etjet | .5=nzry
|l ool Low Etjet [ e . --- Low Et jet :

10 [=is: ity : s : minninic 40F="" ............ ........... SRS SRR SRR ................
SR EEESSR TS o i : - : : 5 : : :
o e i : : : : : : :
HRE S M R A R
e : : : : : : :

- 'Ltl"L'ﬂl"'lL':l"'l;':l"i"L"l"L'Ll'"il':l"'ll':l"'l" 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
20 30 40 50 60 0 2 4 6 8 10 12 14
x: Et (GeV) x: i Eta[-1,+2]

[EEN
E
k

Lo

o
e
o

Entries 1148 |diJet delZeta (accepted)| Entries 1148
|Mean  14.59 = : : : : —|Mean  30.77

I N N ii || i[RMs 9069 140w S S | RO oo [RMS 4.956
SRRREEE i s I B
S S e S ; ; ; ; ; ;
;‘ - 100 s g S
T s s ; ; ; ;
— High Et jet 8O- R S S T

E: --- Low EtJet : : : : : :
ok - - 0] S I SO N
I X S : :

- A0F— -t L LR T ot )
1ol _R_EP_ __J_?_t_l__f,‘:__T__?_ _G__F?_E_E_'_\_'__J_?_t_%_'?T __________________ §

: 20 R ] s S T S

:I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 0 : 1 1 1 1 i 1 1 1 1 I—'—I—i—|_|-—l—-| 1 i 1

o

5 10 15 20 25 30 0 10 20 30 40 50 60
x: iPhi ~sector x: delta zeta (rad*10)



|diJet delZeta vs. etal (accepted)| l\Eﬂg'nei
~ ' - - - - - Mean

o 60f—e R praneeseesieesesns preesTT
o r : : : : : :

E [ e : D : :

S 50 T TS S T ...
Q : — e :

© :

T

o

i

1148
7.716

Entries

30.77

14

x: iEta2 [-1,+2]

2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted)|

ean x
eany

i

10 12

14
x: iEtal [-1,+2]

Entries

y: delta zeta (rad*10)

Mean x
Mean y

1148

1148
7.716

7.247 §

14.75

30.77

.......................

...................

100

80

60

40

20

10

5 10 15 20 25 3

Entries 1148

22.55

:{Mean

.............................................................

oo by Ly PR o B BT

0

x: (iphil+iphi2)/2 (12 deg/bin)

20 30 40 50 60

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EE) |

>

Jet2/Ge

12

10—

10

|diJet phil-phi2 (accepted_ EE) |

y: iPhi2 ~sector

30

N
¢

20

15

10

....................................................................................

Entries 104 diJetl eta-phi _(accepted EE) Entries 104
30 BITOW-Easl est| Endcap .
= 30C : : ]
s L
25 ? 3] I SRR UURY IUUUT SRIUUURRST SUSURRIY IOUPPRPI 35
E -
.
20 > 20— R
15 YL ERUUUOUURE SOOI UOTRY WO S S
10 10__ ...........................................................
5 -] EE O SRR URS ASUU SURUUUUPR SUPURIY ISP
0 0_| 1 1 | 11 1 | 1 1 | 1 1 1 | 1 1 1
12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
Entries 104 |d|Jet2 eta-phi (accepted EE)|
RTO\I\I pan D TOUvVvV=-vve Endcap
3 < 30f 4
"6’ -
(D -
» L 3.5
25 LA U SRR Y (S SO RN IR
& [
s F
2 7o) EEERRE SRR RN NESOUE SUNORUOOL SPRPRPNS OSSR UEUUSOOn S
C — 2.5
15 /L] R s Jes] IEC SRR SRR IR S
C , 15
1 ] Y PP -
C —
05 ] ISR ST N0 NS R N AR
C 0.5
0 O_ 1 1 1 i 1 1 1 i 1 1 i 1 1 1 i 1 1 1 1 1 1 1 I 1 O

0

5 10 15 20 25 30
x: iPhil ~sector

0 2 4

6 8

10

12 14
X: iEta [-1,+2]



|diJet Et (accepted EE)| Entries
e T]Mean
:':I:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::; RMS

10

T

104

5.394
1.028

.................................................................................

— High Et jet
--- Low Et jet

N [ eeeeeeeeaeeeadanaaaaaaaaaan L

BEVRRTIR T Tt MM Ml S M T T St S e W B W

o

10 20 50
x: Et (GeV)

60

|diJet eta (accepted EE)| Entries 104
- —|Mean  13.11
1] SAUSPO SOPUURSSPOS PO PSSO SSSRRPON: OIS ...[RMS  1.096
303_ ................................................................... ..... S -
» i--
o) o) M S AU UL SR U S B R,
- = 5 = ..
20__ _____________________________ e ngh Et Jet Lo _____

15

10

--- Low Et jet

....................................................................................

....................................................................................

12 14
x: i Eta[-1,+2]

|diJet phi (accepted EE)| Entries 104

F |Mean 14.96
0 R e R S SRR :

Ea : : g |RMS  8.426

SiYl

[

]

IN
l

w
TTTT]TTTT

N
!IIIIL

o

25
x: iPhi ~sector

30

Entries

8

7

Mean
RMS

104
30.92
7.215

.............................

I

3
A
P-4

30 40 50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EE)| Entries 104 |diJet eta2 vs. etal (accepted EE)| Entries 104
= Mean x 13.11 = ndca ean x 13.11
= - : Meany  30.92 — BTQVV : eany 12.97
R R S S S Y SR SO SO I
3 [ : 45
s 50 : 4 T R S e e I o an
N[ : = = —12
8 - =35 x 10 .
3 40 : s o | <10
5 F 5
C ; Bl
30 : ; —12.5 BTCW
- i — B A —6
] T S SETIRT SRR el -
- . — H e N
= : : : 4 4
o f— : :
o) R S S SO S ——
C : : /8 it AR R A A 2
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZeta vs. avrPhi (accepted_EE) | mnes o ltotal Et diJet (accepted EE) | Entries 104
— M =
g [T Y 3082 g g g g ‘|Mean 17.84
Lo [ I : j : : : :
g - i1o] I SRR § N SRS S S
R — I R I —2.5 : : : : :
©
g _
N - ettt iiciiimisscicsssssssessameccsmaA el sssssssasssssMsssssssssssssamasssssassmn""
© I I I O N D S
3 2 °
©
i
—1.5 G- EER 5
_1 4_ """"""""""""""""""""""""""""""""""""""""""
T T S T SR PRRRTE 0.5 7] utERETEEE 1§ FEETRRRTRTE SERRT o S SRR R SRR

1O

5 10 15 20 25

x: (iphil+iphi2)/2 (12 deg/bin)

30

10 20 50 60

x: Et (GeV)



>
)

Jet2/G

|Et of Jetl vs. Jet2 (accepted EB)| Entries 184
2 45
10_— ------------ SRR S S R N 40

: : ' 35

30

25

20

15

8 10 12
x: Jetl/GeV

|diJetl eta-phi (accepted EB)| Entries 184
30 RTQ\/\/-F;‘-:IQI‘ D-luvv-vvest‘ Endpap 4
25 . ; 35

y: iPhi ~sector

.........................

15

10

5_ ..........................................
0_| 11 | 111 il
0 2 4 6 8 10

184

Entries

y: iPhi2 ~sector

30

N
¢

20

15

10

b i, iom ., om

5

1 1 1 1 i 1 1 1 1 i 1 1 1 1 O

0 5 10 15

20 25 30
x: iPhil ~sector

y: iPhi ~sector

12 14
x: iEta [-1,+2]

|diJet2 eta-phi (accepted EB)| Entries 184
30 BTOW-East D Tovv-vvest Endcap 3
1<) ERSRRS SRR Y SRS SO - . . 25

- : -
20 e L S - )
L] SECSCITIIs SEESE BN L ey — : ----- O 15
(10 R RRAIOTOte SRS R | (105 - 1
C -
C] RN I N R . = - 0.5
C -
O_ 1 1 1 i 1 1 1 i 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1

o

2 4

6 8

10

12 14
X: iEta [-1,+2]



|diJet Et (accepted_EB)|

10°

10

Entries

—|Mean

Py
<
(%)

184
7.56

L [— H|gh Et jet

40

|diJet phi

12

10

50
x: Et (GeV)

60

|diJet eta (accepted EB) |

40

35

30

25

20

15

10

Entries
Mean

RMS

184
10.88
2.079

- || [—HighEtjet

--- Low Etjet """""

8

IIIJ.III!III

(accepted_EB) | Entries 184

T ; T —|Mean 14.3

] 1 RMS  8.761
- --:-- E‘— -------------------- 1---.--;--. ----- E =
1 .—'- - |- —ngh Et jet ' -
I I S N O --- Low Et jet N -

[ H ] U L

; RED Jetl ET > GRE' ' ft'2'ET 111

0

5

10

15 20

25
x: iPhi ~sector

30

|diJet delZeta (accepted EB)]

25

20

15

10

0 10

10 12

14

x: i Eta[-1,+2]

....................................

- AZ=phi(1,32) *

Entries
Mean
RMS

184
3111
4.993

...............................................

L OOind .. i

20

30

40

50

60

x: delta zeta (rad*10)




H Entries 184 H Entries 184
|d|Jet delZeta vs. etal (accepted_EB)| oy 1066 |d|Jet eta2 vs. etal (accepted_EB)|EnOICa e 10,88
s - Mean y 31.11 — T eany 10.91
S R A MR Py SR
g r =
~ L N
r [ Y S SO SO S ca
 s0f- & P
N -
o L X
D .AF —4
S 40—
= -
30 3
: 6_ ........................................................................
20f— —2 n
- I L R R
101 1 -
: 2__ """"""""""""""""""""""""""""""""""""""""""""""""""""""
0 C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZeta vs. avrPhi (accepted_EB) | entries 1412‘7‘ ltotal Et diJet (accepted EB)| Entries 184
~ M ' -
S ! : I L= = o5 ' ' ' ‘|Mean 20.83
g : : : :
g e e S A 35
: =
Q : : —3 | RS | SRt A A AL
g8
T
©
-

1O

5 10 15 20 25

x: (iphil+iphi2)/2 (12 deg/bin)

30

15

10

..................................................................................

IIIIiIIIIiIIIIiIIIl_l i 1 1 |_|I i 1 1 11

o

10 20 30

40

50

60

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted BB)| Entries 938

>

Jet2/Ge

12 H : : : : I

10

0 2 4 6 8 10 12
x: Jetl/GeV

Entries 938
diJet1 eta-phi (acceptt)elcllvl?;%)v st Endcap

22

.............

y: iPhi ~sector

0 2 4 6 8 10 12 14
x: iEta [-1,+2]

|diJet phil-phi2 (accepted_BB)| Entries 938

y: iPhi2 ~sector

30

N
¢

20

15

10

0||||i||||i
0 5 10 15 20 25 30

x: iPhil ~sector

[diJet2 eta-phi (accepted BB) [Entries 938
DT O\ oTovv=vvest Endcap

N
(&2}

y: iPhi ~sector

0 2 4 6 8 10 12 14
X: iEta[-1,+2]



|diJet Et (accepted BB) |

Entries

10

10

- Mean

~:{RMS

9.
2.

938
099
205

-|— High Et jet
--- Low Et jet

..................................

t'i"l"l"l’"L"l'"L"J"'lL'J"

20

30

40 50 60
x: Et (GeV)

|diJet eta (accepted BB) |

100

80

60

40

20

Entries

Mean

RMS

938

6.792
3.547

— High Et jet
--- Low Et jet

0 2 4

6

8 10

Entries

50

45

40

35

25

20

15

10

5

30F

- Mean

:[RMS

938

14.57
9.171

5 10 15 20 25 30
x: iPhi ~sector

|diJet delZeta (accepted BB)]

120

100

80

60

40

20

12 14
x: i Eta[-1,+2]

Entries

Mean

938

30.7
4.492

RMS

| | = | I 1

30

40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted BB) |

Entries

y: delta zeta (rad*10)

Mean x

938

6.792

60

50

40

20

10

0IllillliIllilllilllilllilllil

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet eta2 vs. etal (accepted_BB)|

Entries

x: iEta2 [-1,+2]

ean x
eany

R T\ Endca

938
6.792
6.206

12
x: iEtal [-1,+2]

14

diJet delZeta vs. avrPhi (accepted_BB) |

Entries

y: delta zeta (rad*10)

Mean x
Mean y

938
14.87
30.7

.......................

...................

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
b 5 10 15 20 25 30
x: (iphil+iphi2)/2 (12 deg/bin)

Entries

:|Mean

938

23.31

o= W & B BT

20 30 40 50

x: Et (GeV)

60




